
1290 Super Duke R, orange 2020 <2020><US><F9975T9>
WIRING HARNESS

53826

Pos Part Number Description Additional Text Quantity

1 61711075033 Main wiring harness cmpl. 1.00

2 61711085033 Engine wiring harness cpl. 1.00

3 58011109130 Plug-in fuse, big 30A 1.00

4 69008021160 special screw M5x12 1.00

5 61711047000 Cable channel, rear part 1.00

6 64111058110 Cover flap, starter relay 1.00

7 76211058000 Starter relay 1.00

8 0738060101 Oval head screw ISK ISO7380 M6 2.00

9 61711059000 Starter cable 1.00

10 61711059050 Battery cable 1.00

11 61711010010 Cable bracket 1.00

12 073802050085 Oval head screw ISR M5x8-A2-07 2.00

13 61711086000 Wiring harness topfeeder 1.00

14 61711097000 Earth wire 1.00



15 61711098000 Ground wire bat. Frame 1.00

16 61111057000 RELAY CM1A-R-12V-H80 07 2.00

17 0025060166 HH collar screw M6x16 TX30 1.00

18 0025060126 HH collar screw M6x12 TX30 1.00

19 61711083050 Connector support frame 1.00

20 61742190000 Coverage lean angle sensor SD- 1.00

22 61542090000 Angle sensor 1.00

23 0024060136 HH collar screw M6x13 TX30 2.00

24 60714069050 Tachometer support bush 6.00

25 61314069051 DAMP. COMPONENT SPEEDOMETER 3.00

26 0025050256 HH COLLAR SCREW M5X25 ISA30 3.00

27 61711003050 Plugbox rubber 1.00

28 61711003060 Connector box 2 1.00

29 69011168000 Antenna keyless 1.00

30 61111018100 Temperatur sensor 1.00

31 60711033000 Control unit MCU 3.0 1.00

32 60711033050 Rubber band 1.00

33 64111060033 Direct current horn complete 1.00

34 0024060156 HH collar screw M6x15 TX30 ONLY USA 1.00

35 60011053000 BATTERY 12V/11AH 03 1.00

36 62111059060 COVER POSITIVE POLE 1.00

37 61311053050 RUBBER PLATE FOR BATTERY 1.00

38 60312032000 RECEIVER AIR PRESSURE SENSOR 1.00

39 60311034000 VOLTAGE REGULATOR 1.00

40 79114086100 Connectivity unit 1.00

41 79114086050 Rubber support, CCU 1.00

42 61711046030 Fixation-Set Connectivity Box 1.00

44 0081050161 EJOT PT SCREW K50X16 1451 1.00

45 61711087050 Fuse Box 1.00

46 61311076100 REAR WIRING HARNESS 1.00

47 61711094000 Plug-in cable tie for M5 1.00


